12 GA. COMMERCIAL TOP # THICK (1> 12 GA, COMMERCIAL TOP FIXTURE
FIXTURE ATTACHED W./(4) 14GA, (MIN) CENTER HINGE ATTACHED _‘_4_ ATTACHED WITH (4> 1/4° x 3/4°
1/4’ x 3/4° HEX HEAD | W/(5) 1/4° x 3/4° HEX HEAD SCREWS HEX HEAD UNIV. SCREWS PER BRACKET
SCREWS PER BRACKET ° @ SCREWS IN THE TOP LEAF ADJUSTABLE SLIDE BRACKET IS ASSEMBLED
3 27-10 BALL STEEL 4.5°¢MIN> STEM (3> SCREWS IN THE BOTTOM LEAF WITH (2 5/16' x 3/4° BOLT & NUT PER BRACKET
ROLLERS W/ RETAINERS USED FOR
T‘——.— NON THREADED SHAFTS
2’ OR 37 20GA, STRUT * DR 3° X 20GA. STRUT ATTACHED
STACKED ON TOP FIXTURES 24 GA. (022* MIN> OR 20 GA STACKED ON THE TOP FIXTURE
ATTACHED W/(3) 1/4° X 3/4 o2’ MIN> OR 20 A V/eS 174 x 374° HEX HEAD
HEX HEAD SCREWS AT EACH END STILE SCREWS AT EACH END STILE AND
AND_W/(2) 1/4° X 3/4" @ 1/4" x 3/4° HEX HEAD SCREWS
HEX HEAD SCREWS AT EACH CENTER STILE AT EACH CENTER STILE
2° OR 3" 20GA. STRUT STACKED
ON HINGES ATTACHED
W/@> 1747 X 3/4°
HEX HEAD SCREWS AT
EACH CENTER STILE
-]
TYPICAL TOP FIXTURES TYPICAL CENTER HINGE 8
N.T.S. 1 N.T.S.
; 2* DR 3' X 20GA. STRUT STACKED
— S I L S ON THE HINGES ATTACHED
) S — W/@ 1/4° x 3/4° HEX HEAD
WITH (5> 1/4* x 3/4
° HEX HEAD UNIV. SCREWS SCREWS AT EACH END STILE AND
* FOR TALLER DOORS CONTINUE TO ALTERNATE o @ 1/4" x 3/4° HEX HEAD SCREWS
BETWEEN 2° AND 3’ STRUTS UP TO THE TOP SECTION AT EACH CENTER STILE
.D 14 GA. C(MIND
HIN R
2°-10 BALL STEEL 4.5 (MIN) STEM EZQR]éRgEAﬁkEEED -
ROLLERS W/ RETAINERS USED FOR U 174 x 34 3
£o” NON THREADED SHAFTS é Ex HEAD SCREWS A STRUT ATTACHED
2 X 20GA.
2 W/@> 174" x 3/4° HEX HEAD
N SCREWS AT EACH END STILE
= AND (2 1/4° x 3/4’ HEX HEAD
i U o SCREWS AT EACH CENTER STILE
3" 2* OR 3’ 20GA. STRUT STACKED -
ON HINGES ATTACHED =
W/@> 1/4° X 3/4°
11 GA. GALV, STEEL
X D e e BOTTOM BRACKET—
ATTACHED W/(7> 1/4° x 3/4°
N N HEX HEAD UNIV. SCREWS
» T:PTISCAL END_HINGE 3 CONT. ALUM, EXTRUSION
2 - TS WITH CONT. VINYL ASTRAGAL
¢ 20GA. STRUT SECTION A—A (SIDE VIEW)
ATTACHED W/(@> 1/4* X 3/4* N.TS.
HEX HEAD SCREWS AT
- EACH END STILE
3 ALTERNATE BETWEEN aT'Hé\N]?D SRI»\
STRUTS GOING UP
24* MAX BEGINNING WITH THIS STRUT REV | DESCRIPTION OF REVISIONS DATE BY
SECTION HEIGHT 2" A | ADDED GLAZNG OPTIONS 4/2/14 | RS
OTTOM BRACKET = g
BOT P~ <
s B = e WE R T, -
- - - 2* 10 BALL STEEL 4.5 (MIN> STEM ROLLER W/ 1/74% X 3/4* X a9 - =
W/ RETAINER USED HEX HEAD SCREWS 23 P /\v. E........E* =
10'-2" FOR NON THREADED SHAFTS £ A 75
DESIGN LOADS| &£ £ 4 2
INSIDE ELEVATION 241 P | '1 :
N.TS. -28.1 PSF | g% M
cg g
@ 19 GA. CENTER STILES 5/16" x 1 5/8° LAG S z
ATTACHED WITH (2 CLINCHED SCREW (DD PER TEST LOADS | £ 4 =
JOINTS OR RIVETS AT THE JAMB. BRACKET TYPICAL BOTTOM BRACKET e | 23 - B
JAMB SEAL TOP AND BOTTOM RAIL AND NTS 4 +36.2 PSF 1 53 g
OPTIONAL (2> CLINCHED JOINTS OR 1) 1/4-20 x S5/8°TRACK o —42.2 PSF | J% =
RIVETS TO FRONT SKIN SPLICE BOLT AND NUT PER 8 < =
JAMB BRACKET §¢ o
19 GA. GALV. STEEL END STILE EFZ “ s , 3 £ o
ATTACHED WITH (2> CLINCHED A Z Bk S M0BALL STEEL 45 @ @
JOINTS AT THE TOP AND (@ AT N TN SI-LERS R NON THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE
THE BOTTCM RALL THREADED SHAFTS WITH THE PROCEDURES DESCRIBED IN DASMA 108. THE
2 12 GA END HINGES 14GA (MIN.) PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED
TAPERED REVERSE ANGLE 2 051" (MIN) O USING ASCE 7-98/02/05 WITH THE FOLLOWING PARAMETERS
14 GA. MIND 5 12 GA'GALY. STEEL TRACK (5 FEET OF DOOR WIDTH IN END ZONE, ROOF SLOPE 10" OR ENTREMATIC
: 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
CENTER HINGE LESS, AND 1=1.0): 2400 ( )
MODEL 24 24 GA
TRACK MOUNTING DETAIL WIND SPEED (MPH) 130 18 112 107 | 103 MODEL 2000 (20 GA)
N.T.S.
EXPOSURE LEVEL B C c D D - SIZE| DRAWNBY  RIR| DATE 09/06/12 DRAWING NUMBER
» i3
” MEAN ROOF HEIGHT | 30’ 15’ 25 15 25 ~2410-130-
FDGE OF DOOR 1" OVERLAP ON EACH SIDE B| cecmer | mw IBC-2410-130-15
SHEET 1 OF 4




TRACK CONNECTION DIRECTLY TO STRUCTURE OPTIONS

ITW BUILDEX 1/4°-14 12 GA. OR 3/16" PSI MIN SIMPSON STRONG-TIE
X 3/4" SELF-TAPPING STEEL ¢SEE BELOW) 1/8* NOM X 1 LONG 1/4* LONG TACK EOOOCDNéRETE 3/8°8 SLEEVE-ALL
SCREWS (TEKS) FILLET WELD (E60xx WELD SAME SPACING 2000 PSI MIN, SIMPSON STRONG-TIE \ EXPANSION ANCHOR WITH
e ELECTRODES MIN. AS FILLET WELD CONCRETE 3/8°¢ WEDGE-ALL . 7/8°% WASHER, 1-3/4°MIN,
\ EXPANSION ANCHOR WITH . .| EMBEDMENT
7/8°8 WASHER, 1-3/4°MIN, s

+| EMBEDMENT -

2-5/8" THICK
WALL MIN.

SR (15 x EMBEDMENT) —
(15 x EMBEDMENT)
CLIP STYLE REVERSE ANGLE MOUNT SHOWN 3¢ MIN. EDGE
BRACKET, CONTINUOUS AND TAPERED ANGLE '
MOUNT AVAILABLE REVERSE ANGLE MOUNT SHOWN ] SISTANCE
: BRACKET, CONTINUOUS AND | 3" MIN. EDGE

12 GA. STEEL FRAMING TAPERED ANGLE MOUNT AVAILABLE DISTANCE TIN T
232 LBS./SCREW ALLOWABLE LOAD - 6 IP STYLE CONTIN ANGLE MOUNT SHOWN BRACKET, CONTINUOUS AND TAPERED ANGLE

g STEEL FRAMING 12GA OR BETTER
PROM ENDS AND 18" OC, SJEELFRAMING 12a OR BETTER BRACKET, REVERSE AND TAPERED ANGLE MOUNT MOUNT AVAILABLE

: 67 FROM ENDS AND 24 O.C, AVAILABLE 2000 PSI CONCRETE DOR GREATER
3/16" STEEL FRAMING EE;ES TO NOTES: 1, 2, 5, 6, 7, 8 2000 PSI CONCRETE OR GREATER 336 LBS./EXPANSION ANCHOR ALLOWABLE
569 LBS./SCREW ALLOWABLE LOAD - 6 551 LBS./EXPANSION ANCHOR ALLOWABLE LOAD - LOAD - 6° FROM ENDS AND 24 0C.
FROM ENDS AND 24° OC. & FROM ENDS AND 24* OC. REFER TO NOTES: 1, 2, 3, 4 AND

’ REFER TO NOTES: 1, 2, 3, 4 AND 5 PECIFIGATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE

WOOD JAMB ATTACHMENT TO STRUCTURE (OPTIONAL) VERTIGAL JAMBS, THE. HORIZONTAL JAMS OR HEADER RECEWES NO '

v ? PORTION OF THE LOAD TRANSFERRED FROM THE DOOR.
2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE N f}zEngLE\;/g/R,I'TCA kc oA _"45132 EEEESV/EFST MAXIMUM DESIGN LOADS OF:
5/18" X 3" LAG SCREWS STARTING 6” FROM ENDS NOTES: . \
" " 1. ANCHORS TO VENLY SPACED BETWEEN THE HEADER AN 3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED
THEN 24" O.C. (1 1/2" EMBEDMENT) FLOOR. BEE £ D P AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.
2 X 6 VERTICAL JAMB ATTACHMENT TO 2,000 PSI CONCRETE 2. FIRST (BOTTOM> ANCHOR STARTING AT NO MORE THAN HALF OF ‘};'OLD&%RFsoERﬂgNS\N?HgkllzEgEONZto?_¢E§%%%2)FthA:gQ EXTERIOR SKIN
» » » THE MAXIMUM ON-CENTER DISTANCE. HIGHEST ANCHOR )
?II-ILI::I-II\I szzfl’}f oB 3”(5 /18/2’>’< SMBETD/:AR;%; 6" FROM ENDS INSTALLED AT LEAST AS HIGH AS THE DOOR OPENING. 5. DOORS UP TO 24’0” HIGH ALTERNATE BETWEEN (1) 2" 20GA STRUT &
s » » » 3, MIN, EGDE DISTANCE OF 3 REQUIRED. (1) 3" 20GA STRUT BEGINNING WITH A 2” STRUT ON THE BOTTOM SECTION
HILTI SLEEVE ANCHOR 3/8” X 2-3/4” STARTING 6” FROM ENDS
" v 4. USE WASHERS PROVIDED BY THE ANCHOR MANUFACTURER ATTACHED JUST ABOVE THE BOTTOM BRACKETS.
THEN 24" O.C. (1 1/4” EMBEDMENT) ’ '
. » » 6. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED
ITW/RAMSET REDHEAD (TRU—BOLT) 3/8” X 4” STARTING 8” FROM ENDS S. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED BY A BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS
THEN 24” 0.C. (2 1/2” EMBEDMENT) RE OIS TERED PROFESSINAL ENGINEER FOR WIND LOADS IN INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.
2 X_6 VERTICAL JAMB ATTACHMENT TO HOLLOW C-90 BLOCK 6. MOST GARAGE DOOR TRACK IS GALVANIZED STEEL. USE ALL REV | DESCRIPTION OF REVISIONS DAE  [BY
SIMPSON 1/4” X 3” TITEN SCREWS STARTING 6” FROM ENDS, NECESSARY PRECAUTIONS WHEN WELDING GALVANIZED STEEL. INTERIOR OF GARA T o000 GG CPTONS | s
USE PAIRS OF FASTENERS (3" APART) 7. ALL WELDS SHOULD BE PERFORMED BY A CERTIFIED WELDER MAX. WIDTH 102"  |~e—
AT 24" 0.C. (1 1/2” EMBEDMENT) OR INSPECTED BY A CERTIFIED WELDING INSPECTOR TO ) - =]
HILTI 1/4” X 2—3/4" KWIK—CON Il+ SCREWS STARTING 6" FROM ENDS, VERIFY THE INTEGRITY OF THE WELD. MAX SIZE | 8 OO N
USE PAIRS OF FASTENERS (3" APART) AT 24” 0.C. (1 1/4” EMBEDMENT) 8 FILLET WELDS TO HAVE A STRAIGHT OR CONVEX FACE 102 x 24 §§ -"*1?.0 E TE\ \ Q
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C—-90 BLOCK. (2000 PSI GROUT) SURFACE. 1 TTT 11T g AP EPN
HILTI SLEEVE ANCHOR 3/8” X 2—3/4” STARTING 6” FROM ENDS 5. TACK WELD TOE OF ANGLE AT samE spacing To prevent DESIGN Loaos[f [ T TP T 1 [ 1 1] ot 7 9. ) ~ 8
P o ROTATION OF TRACK ANGLE, +122.5 LBS/FT DESIGN LOADS| & £ 2w 2
THEN 24” 0.C. (1 1/4” EMBEDMENT) 11328 BSVFT SEE NOTE 2 1241 PSF | ot 2 g
(OR, USE FASTENERS FOR HOLLOW C—90 BLOCK) ) —281 PSF | GE  #restes 5
*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE. 5< 5 g
*PREPARATION OF WOOD JAMBS BY OTHERS 5 I' ‘ <
TRACK CONNECTION TO WOOD JAMB OPTIONS ETiows | o A DtV 3
: na /CE o 4 2
. S TURE e FOR LAG SCREWS & BRACKET SPACING SEE PAGE 4 FOR TRACK CONFIGURATION DETAIL -42.2 PSF | 52 (\\'i SION‘:LE“Q\:’ <
o <2 ~
@ I \ i \ 5 TX X
& u/}\_z ._,<| 2
I. X6 JAMB _.!__|_ ’ ]
1727 MIN TYP. 2-374" MIN a
HOLLOW BLOCK M E——e—
STRUCTURE SROUTED. BLOCK ENTREMATIC
" 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
\ MODEL 2400 (24 GA)
1 ] BRACKET MOUNT CONTINUOUS ANGLE MOUNT REVERSE ANGLE MOUNT MODEL 2000 (20 GA)
J
i 5/16* x 1 5/8" LAG SCREW (1) 2x6 WDOD JAMB SYP OR SPF SZE| DRAWBY  RIR| DATE 09/06/12 DRAWING NUMBER
— PER JAMB BRACKET (1-1/2° (NO.2> OR BETTER (TYP.) IBC-2410-130-15
172 MIN 4 EMBEDMENT MINIMUM> (TYP.) B | cecke g DATE
SHEET 2 OF 4




B B
t TOP SECTION t

INTERMEDIATE SECTION

OPTIONAL GLAZED SECTION W/ 24" X 12* WINDOWS AND STRUT LAYOUT
N.T.S,

C C
f TOP SECTION }

; : \
. o .
03 o' ! 03
v v v

INTERMEDIATE SECTION

OPTIONAL GLAZED SECTION W/ 24" X 67 WINDOWS AND STRUT LAYOUT
N.T.S.

.080 PLEXI-GLASS
Y, —\

rr

HOT MELT

#8 3/4° ZINC ADHESIVE
SCREW

SECTION B-B 24" X 12 WINDOW DETAIL W/ 080 PLEXI-GLASS

N.T.S,

1/8° DSB
B \

rr

HOT MELT
ADHESIVE

#8 3/4" ZINC
SCREW

SECTION C-C 24" X 6" WINDOW DETAIL W/ 1/8” DSB GLASS

N.T.S. (ALSO AVAILABLE WITH .080 PLEXI-GLASS>
o e1-5/8
MAX. DLO
rf - N
9-5/8" .
MAX. DLO
N J.

24* X 12* DAY LIGHT OPENING AND FASTENER DETAIL

N.T.S.
21-3/8"
" MAX, DLO
3-1/4* J : ‘QV
MAX. DLO

24* X 6" DAY LIGHT DOPENING A FASTENER DETAIL
N.T.S,

7]

0.013!
POLYPROPYLENE

/—DDDR SKIN

—HOT MELT
ADHESIVE

0.0135"
POLYPROPYLENE

HOT MELT
ADHESIVE

#8 3/4° ZINC

SCREW
REV | DESCRPTION OF REVISIONS DA [BY
A | ADDED GLAZING OPTIONS 4/2/14 | RS

MAX SIZE
102 x 24’

DESIGN LOADS
+24.1 PSF
-28.1 PSF

TEST LOADS
+36.2 PSF
—42.2 PSF

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

C 27410

\ = ol
AS\Y :
5921-G W. Friendly Aveﬁnsboroj

ENTREMATIC
165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

MODEL 2400 (24 GA)
MODEL 2000 (20 GA)

SIZE

DRAWN BY

RR| DATE 09/06/12

DRAWING NUMBER

CHECKED BY

DATE

IBC-2410~130-15

SHEET 3 OF 4




£, 00 g e
W/(3 5/16 DIA. X 1-5/8" LAG BOLTS %
AND TO TRACK W/(4> 1/4°-20 x 5/8° %
TRACK SPLICE BOLTS AND NUTS é
/;
. o
TABLE 1 / ' é
: : ' . E CHED “w
Secti Center Stile Max Design Loads 2 Yo s S Tso1e o X %
ection Locations Allowed > 17420 % Brae TRAGK SPLICE. %
. 4> 174 .
Width =T 2nd Positive Negitive LS 0 TS é
ft . . o . X 1= 2 /
( ) (|n) (ln) (P S F) (P S F) ._——(I};GS/BII:?LTDLeFTACII-IE?J/%’D JAMB %
AT EA. JAMB BRACKET é B
6' | 0" | 36" - 271 31.6 71
6' 2u 37u 26 3 30 7 EJ%MGBA'BgQIEXI:ITSSTEEL
- . . ATTACHED W/<1> 1/4°-20 x S5/8° SPLICE TRACKS W/
TRACK SPLICE BOLT & NUT (4)-20 TRACK SPLICE
6‘ 4|| 38" - 256 299 / BOLTS & NUTS
? (051 MIN) OR
6' 6“ 39" - 250 29.1 D-K TRACK ATTACHMENT CAN BE BRACKET 8% 42 GA. MIN> VERTICAL TRACK
p m m MOUNT, CONTINUOUS, REVERSE A?Q%EIEE ':E
G L N N X 1
] " " C T |5} ] 4
e - 2 o t THEK BT o e g,ﬁ M|
] " n _ Pt i 2 B S
7' O" 42" 232 270 B A ;/él’l_? ;2)NL$1¥VETS OR (1> 1/4’-20 N &
712 ] 45 | - 22.6 26.4 T e e o
7| 4" 44u - 22 . 1 25 8 INDICATED i m
7' 6" 45" - 21.6 25.2 _m ___J [
7- 8" 46" ~ 21 2 » 2 47 ;EQC.IISASEEIFZIGURATION FOR UP TO 24’ TALL DOORS :.\z«;LAaLE TRACK CONFIGURATIONS
r 10T 4r - 20.7 24.2 TQOBOLE 2 RACK ATTACHMENT TYPICAL
] " 1] R T MEN
8 0 48 - 20.3 23.7 HEIGHT [ A B | C D E F G H I J K | SPLICE m——— —
8' 2u 49u _ 199 23.2 = - - L e REV | DESC / /
A | ADDED GLAZING OPTIONS /2214 | RS
8 | 4" | 50" - 19.5 22.7
8 |6 | 51" ; 19.1 22.3 wax size, |28 PN
8' 8" 52" _ 187 21.8 %i ;-; QEOFTE*‘;\ ~
a ~ Gl . <]
8' 1011 53u - 184 21 4 DE_S;?;N1 L’SSA;:DS E,_,Ej ;* :..~ - .. ; § )
’ ax  HFE: LR g L7
9! Ou 54u ~ 180 21 O —28.1 PSF g;:? ;"i' .......................... W
o [2r] 37" | 73 26.7 31.1 T e st Lows | 28 4% 85829 Gy :
9 | 4"| 36" 76" 25.5 29.7 m----- Ho e |98 MOt eENSEN 2
g |6 | 37 | 77 252 204 | | ‘ HOUL B N\we s
9 8] 3 [ 78 24.9 29.0 "2 TX
9 [10"| 39" 79" 24.5 28.6 arr
10' 1 0" | 40" 80" 24.2 28.3
101 2" | 41" 81" 24.1 28.1 154" | 478" | 202 : ENTREMATIC
1'5’4" 178"4 165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105
T T g rree T e — — MODEL 2400 (24 GA)
3 58" | 82" | 106" | 154" | 178" | 202" 6" ] 6t MODEL 2000 (20 GA)
m 58" 82': ;,106: | 130: 1 154: 178" 2021 e SIE| DRAWNBY  RIR| DATE 09/06/12 DRAWNG NUMBER
, [3a ] 58 [ 82 [ 106" [ 130" [ 154" [ 178" | 202" [ 226" | 250" | 280" B[ ommm@er | oaE IBC-2410-130-15
ALL TRACK ATTACHMENTS +/— 2" ALLOWED USING SYP OR SPF NO.2 OR BETTER ONLY PP




